TSK LMBAHA R

TSK LMBAH1 R

BTSKSRIE - R4 %= FL—=WLMBA M1 F HS-LRYV-—-X (O>770v7)

H4

4—M1X 2

L1

L2

L3

%

ALl

L4

Ty

Ma

Ms

M
o~ —a s~ a /_0\
¢} ¢}
ﬁ F
- PR
BAI mm
# oE A& T & EAERETE [N] BER ML [N - M] g 2
Javyy| L=
w W4 H4 d2 d3 h E F C Co Ma Ms Mec kel ke/m]
23 11.5 24 11 7 11 20 60 26730 | 54240 775 775 871 0.77 3.6
28 14 28 14 9 14 20 80 35630 | 69480 1094 1094 1337 1.2 5.1
34 17 32 14 9 15 20 80 49350 | 96420 1837 1837 2232 2.0 7.3
45 225 42 20 14 21 225 105 76180 | 141800 3189 3189 4268 3.6 12.6
53 26.5 48 23 16 24 30 120 112400 | 204200 5510 5510 7228 6.0 171
63 315 58 26 18 25 35 150 188800 | 339000 | 12110 | 12110 | 14560 12.0 24.6

# A < 2Z4 K70y 7tk

B KX

H H1 N Wi w2 w3 L1 L2 L3 L4 H3 M1 X £ T
HS25LR 40 6.5 12.5 48 35 6.5 108 83 50 12 8 |M6x 8| 10
HS30LR 45 7 16 60 40 10 123 94 60 12 8 |M 8x10 8.5
HS35LR 55 8 18 70 50 10 142 109 72 16 10 |M 8x12| 145
HS45LR 70 11 20.5 86 60 13 168 130 80 16 15 |M10x17| 185
HS55LR 80 14 235 100 75 12.5 192 156 95 16 18 |M12x18| 20
HS65LR 90 14 315 126 90 18 248 207 120 16 23  |M16x20| 18
OFURE

i

=+

—BICHEAE DX T4 K70y 78

I

HSHM LR—-B2—C1+300—RD—H—-W2

HEELR (mm)
i R R ENIE

RS

— BFELTHAT M




